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1. MR, FEH o R (RS, rafiER 2011)

2

x’ - y—2 =1 x squared minus y squared over a squared equals one.
a
yz
ax’ + 2— =1 a xsquared plus y squared over two a equals one.
a

2. PO GRATERIK 2011)

limlog, ox _21 =2 Thelimit as x tends to infinity of log base three of nine x
X—>0 x +

minus one over X plus two equals two.

3. MERRERET (HEEEAK 2011)

1 . k’m
S, = Zz—ksm 2 S sub nequals the sum from k£ equals one to #n of one over
k=1

two to the & times sine k squared pi over four.

lim§, = g The limit as 7 tends to infinity of S subn equals the square

n—0

root of two over three.

1imW= 2r (HL £(0)=0. f'(0)=x) Gk 2010)

60

The limit as theta tends to zero of f of one minus cosine two theta over theta

squared equals two pi, for f of zero equals zero and f prime of zero equals pi.



4. WSRO AR 2011)
x(t)=(1+1*)cost
y(t)=(1+¢*)sint
5. P LMoy URETTHR  2010)

x of t equalsoneplus ¢ squared times cosine ¢, y of ¢

equals one plus ¢ squared times sine ¢.

2—-x .
y= > y equals the square root of two minus x over x plus two.
X+

~

y:

2 . .
- y prime equals minus two over the square root of two
N2=xAx+2(x+2)

minus X times the square root of x plus two times x plus two

6. TRy TEINT-E% GERT K 2011)

f(x)= J;ﬂcost — xsin 2t|dt fof x equals the integral from zero to pi over two of

the absolute value of cosine ¢ minus xsine two ¢ drf.

7. R LR (BRI 2011 i)

1 1 1
lim( + $ooe o +—— ) =log(1+2)
ot 12 40 22 4 n? Jn? +n?

The limit as # tends to infinity of one over the square root of one squared plus
n squared plus one over the square root of two squared plus n squared plus, and

so on, plus one over the square root of 7 squared plus n squared equals log of
one plus the square root two.

8. Ry L A% (RIFK 2011 )
Elogxdx < log(n!) —%logn < f log xdx
2

Log n factorial minus one half log 71is between the integral from three over

twoto n of log x dx and theintegral from oneto n of log x dx

9. A& (KIEHEK 2010)

(1+t)"21+nt+@ (n - B%H. t>0)

One plus ¢ tothe n is greater than or equal to one plus n ¢ plus n

times # minus one over two, for # natural number and ¢ positive.
10. ZE#AnsC (RE[EISL R 2010)

J.: xf (sin x)dx = %J‘Oﬂ f(sinx)dx  The integral from zero to pi of x times f of

sine x dx equals pi over two times the integral from zero to pi of f of
sine X dx.



11. AN (BT —R& « 73 A X —fEffE5 3 308)

sin x+o
dx 1
[——-= log
a+bsinx bcosa xX—a
cos

({BLa=bsina +b*—-a’> =bcosa —-rm<x<m)

The integral of one over a plus b sine x dx equals one over b cosine alpha times
Log of sine of x plus alpha over two, over cosine of x minus alpha over two, for

a equals b sine alpha, the square root of b squared minus a squared equals
b cosine alpha and x lying between minus pi and pi.

12. WAWARER D (BT —R « 74 A2 —fffEDFR  495)
%, (a>0m & x)

jwﬂ= 0. (a=00& =)

0 g%+ x?
—%, (a<0D & x)

The integral from zero to infinity of @ over a squared plus x squared dxequals
pi over two, for a positive.
zero, for a equals zero.

minus pi over two, for a negative.
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